asym_usl

asym_dsl

asym_usr

asym_dsr

4000 f_ —1 500

2000 f— - o
0 _ 300

=2000 :— 200

4000 f— 100

=000 : e vy e e by | 0
0150 -50 0 50 100

diff_bpmXum

1000
- —50¢
500 g
ﬂ __
~500
-1000 — 100
i | | | 1 | | | | | | | | 1 | | | 1 | | | D
- 100 50 ) 50 100
difi _bpm1Xum
difL
10000 —10r
5000 - —a0c
ol BOC
_5000 400
- 200
10000
I A A I B A A A I A o
~100 _50 0 50 100
diff_bpm1Xum
1500 —
- —50¢
1000 —
- N — 400
500 —
of
500 —
1000 —
[ 100
1500 —

run8299 000 regressionr-asym main

4000 f— o
2000 f— —{400
0 :_ 300
2000 f— 200
~4000 f— 100
—EI'DDD : 1 | 11 11 I 1 1 11 | 1 111 | 11 11 | 1 1 11 | | I | ﬂ

30 -20 10 0 10 20 a0
diff_bpmda¥ium

diff_

4000 —

2000

=2000 —

-4000 —

0,00 _50 0 50 100
diff_bpmdeX/um

di

5
E

e —sot I
1000 — 1000 —
: st :
00~ —40c SO m
o o
- 300 - .
_500 200 ~-500
1000 i o 1000
: | : | |
ANEEEI NS NN NS NN RN 0 I N T R AN TN N M N T T N T N N B B B
=30 20 =10 (1] 10 20 an =100 -850 (1] B0 100
difi_bpmda¥ium difi _bpmdeXsum
| I | I
10000 _— —eor 10000 _—
| | n
Eoon ~ —400 BO00 —
o A0C o
10000 — 100 10000 —
: n [ =
NI I NN RNl NN N 0 I B I B R A B A
=30 20 =10 (1] 10 20 an =100 -850 (1] B0 100
difi_bom4aYium diff_bpm4eX/um
d. difL
1500 |- 1500 |~
B —500 B
1000 |- 1000 |-
- —40( - N
ErDD_— E-DD_—
f N B
o 30C oF
—ErDEI_— 200 —E-DD_—
~1000 |- ~1000 |-
= 100 =
~1500 |- ~1500 |-
_|IIIIIIIII|IIII|IIJ_I|IIII|IIII i

1aindetvs diff bpm=C

500

400

100

G600

500

100

120

100

80C

0L

400

200

500

400

300

200

100

B — 500
4000 —
2000 |- e
ﬂ_
2000 —
-4000 100
—EI'DDD _l L1 11 I | I | | L 1 11 | L 111 | L 1 11 | L 111 D
=30 =20 =10 (1] 10 20 an
diff_bpmdaYium
difL
B I
S0 —{ 400
o a0
500 - 20
B 100
1000 .I
: [ ]
| L1 11 I L1 11 | L1 11 | L1 1 1 | L1 11 | L1 1 1 D
=30 20 =10 (1] 10 20 a0
diff _bpmdeium
diff_bpmdeY
B I
B H en
10000 —
B — 400
B000 —
.
B a0
ﬂ_
B 200
=5000 I
B 100
10000 -
: N
o b b b b Lo o
=30 20 =10 1] 10 20 an
diff_ bomdaYium
diff _ hpméle Y
1500 [
C —{20C
1000 |-
- —{a0t
500 —
o 300
-500 = 201
-1000 |-
- 100
=1500 — -
__I_I L1 1 I | I | | L 1 11 | L 111 | L 1 11 | L 111

1.7Z postpan.png

4000 —

2000 —

=2000 —

=4000

1 11 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 111
6000 T Tien 100 50 0 50 100 150
diff_bpm12X/um

di

P
:

500

- 500

=1000

=
IIIIIIIIIIIIIIIIIIIIIIIIIII

-180 100 =50 1] 50 100 150

diff_bpm1 2X/um
diff _

10000

5000

=5000

10000

=
III|IIII|IIII|IIII|IIII|II

~180 -100 -50 O 50 100 150
diff_bpm12X/um

1000

500

-500

=1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=150 =100 -50 1] 50 100 150
diff_bpm12X/um

300

200

100

—1&C

—100

300

200

100



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run8299 000 regr

i - —60C
4000
- —=50c
2000 m
i —lanc
o 301
- 200
~2000
I 100
-4000
- | | | 1 | | | | | | | | 1 | | | 1 | | | D
~100 50 0 50 100
diff_bpmXum
. — —g0e
1000
- —500
500 -
[ =m
ﬂ __
~500
1000 - 100
i | | | 1 | | | | | | | | 1 | | | 1 | | | D
- 100 50 ) 50 100
difi _bpm1Xum
diff
4000
- — 500
nono
2000 |- —an
1000 -
oF
- n
-1000
- m
=2000 ;‘ [
-3000
5 100
-4000
5000 N T T o
~100 _50 0 50 100
diff_bpm1Xum
1500 —
- —50c
1000 —
[ = —400
EHD:-
of
500 —
1000 —
- 100
1500 —
i L

L1
-850 100

SSI1IONNITeg

4000 —{50c
2000 o |40t
- 300
ﬂ -
i 200
~2000
i 106
~4000 |
N |
| | L1 11 I L 1 11 | L 111 | L1 11 | L 1 11 | L 111 ﬂ
30 20 10 0 10 20 a0
diff_bpmdaYium
diff_ bpm4aY
| I _E_Dt
1000
- —{50c
500
i —la0c
o 30(
_5on 201
_1000 i 1ot
: [ ]
| | | I | I L1 11 | L1 1 1 | | I | | | I | | L1 1 1 ﬂ
30 20 10 ) 10 20 a0
diff bpmda¥ium
diff_ bpmd4aY
- —
4000
- —500
3000
2000 B
- - —la0c
1000 |
ok 300
~1000 |
- 200
~2000
~apo0 |
s 106
-4000 i
5000 N T T I N AN 0
_30 30 10 0 10 20 an
diff_bpmda¥ium
difL
| —
1500 m
- |
n —50r
1000 [~
[ —lanc
EHD:-
ol ™ 300
500 |-
- 200
1000 :—
- 106
~1500 :—

B |
4000
. —{500
2000 m
[' L
~2000
] 10
~4000
- | 1 1 | | | 1 | | | 1 | | | | | | | | I ﬂ
~100 50 0 50 100
diff bpmdeX/um
i — —B0L
1000
| —s0c
200~ —40(
[ =
ﬂ __
~500
-1000 |- 100
[ | 1 1 | | | 1 | | | 1 | | | | | | | | I ﬂ
~100 50 ) 50 100
diff bpmdeX/um
djfL
4000 —50(
3000
2000 —a0(
1000 m
oF
- |
~1000
—2poo - ®
-3000 100
-4000
5000 T T T 0
100 50 0 50 100
diff_bpmdeX/um
1500 :—
n —s0r
1000 :—
[ = —{400
EHD:'
of
500 :—
~1000 :—
- 100
~1500 [~ .
B | 11 1 |

" maindet-vs dif

0

bpm-

4000 —50c
2000 —{400
i 00
ﬂ L
i 200
~2000
| 100
- 4000
| |
| L1 11 I | I | | L 1 11 | L 111 | L 1 11 | L 111 D
-30 20 10 ) 10 20 a0
diff_ bpmdeYium
diff _bpmdeY
B I
500 | —anc
ok 00
500 - 20
- 100
~1000 | o
: [ ]
| L1 11 I L1 11 | L1 11 | L1 1 1 | L1 11 | L1 1 1 D
30 20 10 ) 10 20 a0
ditf_bpmdeYium
diff _bpmdeY
4000
E — 500
3000
1000
of S0
-1000 |
- 200
~2000
~apoo |
5 100
-4000
5000 I N I N R o
30 30 10 ) 10 20 a0
diff_bpmdaY/um
diff _bpmdeY
| I
1500 [~ i m
- —=50c
1000 —
[ = —{400
EHD:-
ol 30(
-500 = 20(
~1000 —
[ 100
~1500 [~ -
| L1 11 I | I | | L 1 11 | L 111 | L 1 11 | L 111 D

-2{)

- postpan:png

4000

2000

= 2000

=4000

300

200

100

III|IIII|IIII|IIII|IIII|IIII|IIII|III 0

150 -100 =50 O =0 100 150
diff_bpm12X/um
| I
1000 —{50c
500 - —anc
D_
_500
~1000 -
i -
III|IIII|IIII|IIII|IIII|IIII|IIII|III ﬂ
150 -100 -50 O o 100 150
diff bpm12X/um
diff_ bpm12X
: |
- —{501
4000
000
- —400
2000 &
1000 |
C 00
o
~1000 |- ot
~2000
~3000 101
-4000 ;— —
_5000 F ol b b b b L 0
150 -100 -50 O 0 100 150
diff_bpm12X/um
difL
| —
1500 [~ -
1000 |-
: —anc
500 :—
[ 300
D:— i
-500 - 200
~1000
n 1€
- [ | .-
~1500 [~ N

III|IIII|IIII|IIII|IIII|IIII|IIII|III 0

=150 =100 -50 1] 50 100 150
diff_bpm12X/um



asym_usl

asym_dsl

asym_usr

asym_dsr

diff bpm1X

e | ndf 32.47 /38 }
p0 4119+ 5312
p1 1.851+0.29
L 1
- }
of HWM{}W
=000
~1000 — _
~1500 —
2000 E—
- | | | 1 | | | | | | | | 1 | | | 1 | | |
=100 =50 (1] 50 100

E

mn;— 2 | ndf 47.48 /38
300 — { pO —0.8707 + 1.1680
200 _ pl  —0.04457 £ 0.06312
mnf— } “‘ |‘ .

: * 1j+
100 H ! } i
- 200 —
—.'EID:—| AN N [N T T TN N N AN N B B I

=100 -50 0 50 100

diff_bpm1X

¥2 [ ndf 30.28 / 38
p0 2.995 + 5.833 ﬁ* i
#-l-"‘
p1 121.5+0.3
ol
—E-I}DU_— A
l e
B {hh&
10000 ++'
-4
(AN TN TN N AN T T TN T TN TN N T [N NN NN TN M
=100 =50 1] 50 100

diff_bpm1X
1000 72 ndf 35.85 / 38
800
: p0 —1.853 = 1.569
600
- pl -0.1249 = 0.0846
400 —
200 - {
- } , hJ[H
o |‘{H+W*ﬂ+ﬂlﬁ
- }
200 -
~400
600 |
1 1 1 1 | 1 1 1 1 1 1 1 1 | 1 1 1 1 |

run8299 000 regression asym | main

diff_bpmdaY -

¥e [ ndf 27.07 /39

p0 5.021+5.192 N )
p1 42.53 + 0.89 i !

'I]_— )
—1-DDD:— | ‘-H{l}
—E{:IDD:—
—E-DDD_—|||_|||||||||||||||||||||||||||||

=30 -20 =10 1] 10 20 30

dlthpméﬁL

¥Z / ndf 33.67 /38

pO 4./69 £ 5.304

pl 391+ 0.29 + *
T %
_:mnn:—,'...|....|....|..||I

diff _bpmdaY diff_bpmdeX
- %2 | ndf 4212/ 39 ao b %2 naf 47.28 /38
400 n
- - pO0 —0.5163  1.1691 a0f pO0 ~0.9126 + 1.1685
300 - -
- pl  —0.05769 + 0.19884 200 pl  -0.04228 + 0.06301
200 - - I
i {’ ” 100 - * Nﬂﬂ ..
100 F E
= | ok Tl iy
oF HWW W - + :
B ) ' # ~100 | +
100 } } -200 f—
~200 -300 f—
_':}DD __I | L1 11 | L1 1 1 | L1 11 | 11 1 1 | 111 1 | L1 11 | —WD :_I 11 1 | | 11 1 | 1 L1 1 | | L1 1 I
=30 =20 =10 0 10 20 a0 =100 =50 0 50 100
I %2 / ndf 38.26/ 39 ¥2 [ ndf 51 3/38
4000 - rF|=|+
- p0 -9.333 + 11.970 p0 2.153 +5.410 ;o
2000 - p1 12,67 + 2.03 p1 1238+ 0.3
[ | -
I { =
0o 'I'Mw%ﬁ n
i w ‘rH]M } [
- * _5000 |- p
=2000 — = ++"++
[ I +++ﬁ**
L4
i 10000 — - +++
4000 - I
ol bv o bern b b b | _|_|||||||||||||||||||
=30 =20 =10 0 10 20 a0 =100 =50 0 50 100
diff bpm4aY  diff _bpm4eX
%2 I ndf 29.3/39 1000 %2 I ndf 32.07 /38
PO _1.729 £ 1570 sor PO _1.687 = 1.570
g0
pi 0.1905 = 0.2685 - p1 -0.1421+ 0.0844
200 1 k 400 | ‘
! J( { apof _
of - HW#WM}HM | - {j‘ '
- i oF l L—
e [ - 200 - -
400 - ~40n -
:I | 1111 | 1 11 1 | ] 1 11 | 1 1 1 1 | 1 11 1 | 1 111 | i

1aindet vs dﬁ‘f “bpm-fit

diff_bpmdeY

¥e | ndf 43.11/39
F}U 5447+ 5166 | |
p1 4927 +0.92 1 Hﬂ H
i H
0

= 1000

= 2000

=30 =20 =1 o 10 20 a0
diff_bpmdeY
- ¥ | ndf 41.07 /38
00 ~
- p0 ~0.7811+ 1.1708
2001 pl  —0.07991+ 0.20629
H}EI:— }
£ w Pttt +} |
—1{?0:— H
_E.I}D—lllllllllI|IIII|IIII|IIII|IIII
=30 =20 =10 ] 10 20 ah
%2 / ndf 39 15/ 39
p0  -8.807 + 11.991 } }
p1 12.61+ 2.11 }
T N“ fiamemrety JH
= 2000 _— H
4000 |
_||_||||||||||||||||||||||||||||
=30 =20 =10 1] 10 20 a0
%2 [ ndf E'.-" 69 /39
p0 -1.521 + 1.573

p1 0.2273 + 0.2784

QHHW*”#M%M
]

-2{) -10

postpan pnge

ol 2 /ndf  30.88/40
: 1 p0  5.775+5.109
1o l wﬁ + pl  -8.254 +0.141
of - |
: !
1oco *W I
= 2000 :— |
:l 111 I L 111 I 1111 I 1111 | 1111 | 1111 | 1111 | 1111

=150 -100 -50 1] 50 100 150

°1

iff_bpml12X

ADD 32 ndi 35.65 /40

300 p0 -1.382 £ 1167

200 =3 —0.004633 £ 0.032342

—_—

100

M*M i ﬂ |

l

=180 100 =50 1] 50 100 150

=100

——

- 200

-300

-I-IIIIIIIIIIIIIIIIIIIIIIIIIIIIII|IIII|IIII|II

-400

: _ L] E
o000 [ x*/ndf  38.06/40
i th
[ K3 p0 47 + 46
2000 p1 -66.01 £ 0.13
ol
—E'I}EIU_—
I iy
10000 i,
'r|||||||||||||||||||||||||||||||||||_|||

=180 100 =50 1] 50 100 150

diff bpml2X
¥2 i ndf 29 [ 40

pO —1.665 + 1.569

Pl 0.04354 + 0.04335

1

=180 -100  -50 1] 50 100 150

T — i




reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

diff_bpm1X

}: { nat 38.05/ 38
pO 2556+ 4417
p1 0.02342 + 0.23920
u [
oF H H
- } “f
=500 -
-1000
-1500
-2000
-2500
| | | 1 | | | | | | | | 1 | | | 1 | | |
~100 -50 0 50 100

diff_bpm1X

°r { 2 | ndf 47.45 /38
300 - p0 —0.8375 + 1.1678
200 pl  —0.05827 + 0.06312
100 | “| | t-

: h‘ w } t } i

o ﬁ%ﬁ%@ﬂ

B N + ¥ AI
100 | )
200
_':]"I}D : | | | 1 | | | | | | | | 1 | | | 1 | | |

=100 -50 0 50 100

diff_bpm1X

i 72
1000 |- f ndf 40.24 /38
F p0 1444
500 —
- } pi -0.1852 £ 0.2357
i —
o W{ nEmLLE - {LIH
ol | |
~1000 | |
~1500 |
[N TN T T T T NN T [N TN NN T T NN N SN TN M
100 50 0 50 100
diff_bpm1X
toen 2 | ndf 35.89 /38
8O0
i pO —1.896 + 1. 569
600 -
- p1 —0.07307 + 0.08453
200 1
E R e aa {
-200 )
~400
600 |
| 1 1 1 | | 1 1 1 | 1 1 1 | | 11 1 |

run8299 000 regreéssion reg maln?:let”’

diff_bpmdaY

¥ [ ndf 32 /39
p0 1.785 £ 4. 422
p1 0.5376 £ 0.7551
TiH] B ) -| - L‘
u:— wwwwwﬁwam
—ErI}D:— )
B t
=1000 B
I|IIII|IIII|IIII|IIII|IIII|IIII|
=30 =20 =10 0 10 20 a0
diff_bpm4aY
- w2 f ndf 4254 [ 39
400
L p0 -0.4787 £1.1689
00—
- p1 —0.0432 = 0.1988
200 ]L
1{?03— ) P } ‘|
oF hw{ﬁﬁwﬁn@%ﬁw
-mnf— }
200 |
—:H}D-_lllllllllll|IIII|IIII|IIII|IIII|
=30 =20 =10 0 10 20 30
%% | ndf E? 73739
p0 ~1.562 + 4.378

pi 0.2594 + 0.7512

}mhmwﬁw __
diff_bpmdaY _
H W“*WW*WW
-+ _

s diff bpm-fit "pos

diff_bpmdeX

¥Z { ndf 39.42 /38
pO 2254 +4.418

p1 0.03717 + 0.23868

oF TV wmwmmhﬂ
i WHL f } &
000 f
~2000 -
~3000 |-
: |_| 11 | 1 11 1 | 1 I | | 1 I | I
-100 50 0 50 100

g

400 - ¥2 / ndf 46.97 /38
300 p0 —0.8833 £ 1.1683
200

p1 —0.05808 + 0.06301
100

|
——

—_—

=100

—_—

=200

- 300

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
JRE—

=400
AN S T AN N N T T A T T S N N

=100 -50 0 50 100

91

iff bpmdeX

E ) 1=/ ndf 44.31 /38
1000 |-
- po —-1.34 + 4.37
500 }
- + pi —-0.1989 + 0.2350
= }HWﬁqmﬁrlﬁ |
: } hi T
500 ]
~1000 | }
1500 |
=2000 y _| T N N N TN N Y TN N NN M A TN NN N B
=100 =50 i 50 100

g

mm;_ ¥/ ndf 32.19/38
o _ pC ~1.734 + 1.569
o0 _ _ p1 —0.08878 + 0.08439
400 - | _
znnf— T

l AP
~200 f— )
=400 f— }

diff_bpmdeY

2 { ndf 34.88 / 39

po 2 625 + 4.430

p1 0.3327 + 0.7863 i
=T | H l||+|.|.|+1-'r B 3 T ”H:;HJ‘-“MH

s |- H

—H}DD:—

-1500:—
:||||||||||||||||||||||||||||||

=30 =20 =10 1] 10 20 a0
diff_bpmdeY
| %</ ndf 41.58 /39
300 ~
i p0 -0.749+1.11
soof- | |
- p1 —-0.0731£ 0.2062
1{?0:— }
i i 4+ |
=100 _ |
_E'DD__IIIIIIIII|||||||||II|IIII|IIII
=30 20 =10 1] 10 20 a0
E ! ndf 31 33/39
p0 -1.542 + 4 383
p1 0.1307 + 0.7787
s00 |- { w
of WM WW
500 { [
-1000 |-
Clv v bvvv s tvvv s brvra v braaa
=30 =20 =10 1] 10 20 a0
E ! ndf E_.-" 59/39
po -1.574 £ 1572
p1 0.2056 + 0.2784
0 k }]W MJFHJH[ _
=200 _—
=400 -— |
—'EA}D_—||||||||||||||||||||||||||||||
=20 =10 a0

tpan.png

diff_bpm12X

¥ | ndf 32.43 740

p0 2.652 = 4.409 1

pi 0.1365 = 0.1220

soo - |

of ._'“WW : +*M||-
soof- ’ | |ﬁ
-mnnf— |
_15nni—”',|,,,,|,,..|....|....|....|....Im|

=150 -100 -50 1] 50 100 150

diff_bpm12X

¥2 / ndi 35.67 / 40
no ~1.351+ 1,167
p 0.008494 + 0.032341
ook~

uf— WHHWWW%”HM }
-mnf— '
_:mni— | _
-:mnf— |
-Wﬂi—...|....|....|....|....|....|....|....

=180 100 =50 1] 50 100 150

diff_bpm12X

%2 [ ndf 38.32 740

po _2.258 + 4.366

pi 0.1078 + 0.1205 - {

‘ HHW#W

prr v bvvr berrr bvvrr b b baaa
180 =100 =50 1] 50 100 180

diff_bpm12X

¥2 / ndf 29.2 /40

- 200

-400

- 600

~800

=1000

-I-IIIIIIIIIIIIIII|III|III|II

1200

p0 —1.706 £ 1.569

p1 0.009382 + 0.043342

o
m |

=180 -100  -50 1] 50 100 150




asym_usl

asym_dsl

asym_usr

asym_dsr

4000 —

2000

2000 —

4000 —

RN T T T AT T T T T T Y M Y B
E.DDPH}D -50 0 50 100

diff_bpmXum

1000 — .

00—

-500 —

1000 |- ST

=100 -50 0 50 100
difi _bpm1Xum

10000 —

5000

=5000 —

10000 —

=100 -50 0 50 100
diff_bpm1Xum

1500

1000

500

~500 —

=1000 —

=1500 —

run8299 000 regression-asym main

4000

2000

=2000

=4000

~6000

diff_bpmda¥ium

1000

500

=500

=1000

10000

5000

=5000

10000

1500

1000

500

- 500

=1000

=1500

diff_bpmda/um

diff_bpmda¥ium

_I|IIII|III IIJ_IlII

4000 —

2000

=2000 —

-4000 —

cevo by v by o e oy g |
EED-DH}D ~50 0 50 100

diff_bpmdeX/um

1000

00—

-500 —

=1000 —

=100 -50 0 50 100
diff_bpmdaX/um

10000 —

5000

=5000 —

10000 - %

~100 _50 0 50 100
diff _bpmdeX/um

1500

1000

00

500 —

=1000 —

=1500 —

mes=scat

1aindetvs diff” bpms=sc

4000

2000

= 2000

=4000

= 6000

diff_bom4eY/um

.
B I

1000

500
o

500

~1000
_|IIII|IIII|IIII|IIII|IIII|IIII
30 -20 10 0 10 20 30

diff_bpmday/um

10000 —

5000

=5000

10000

diff_bpmdaY/um

1500

1000

500

=500

= 1000

=1500

~30 —E{?

stpan“nng

4000

2000

=2000

=4000

= 6000

1000

500

- 500

=1000

1500

1000

500

-500

=1000

=1500

= —

=150 =100 =50

50 100 150
diff_bpm12X/um

I
-180 100 =50 1]

50 100 150
diff_bpm1 2X/um

= —

-180 100 =50

50 100 150
diff_bpm12X/um

I
=150 =100 -50 1]

50 100 150
diff_bpm12X/um



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run8299 000 regression-reg

4000 —

2000

2000 —

4000 —

=100 =50 0 a0 100
diff_bpmXum

1000

00—

-500 —

=1000 —

=100 -50 0 50 100
difi _bpm1Xum

4000
3000
2000

1000

=1000
=2000

=3000

=4000

I S N T N N T TN T N T TN NN NN N SN N O I
=000, 05 -50 0 50 100

diff_bpm1Xum

1500

1000

500

~500 —

=1000 —

=1500 —

4000

2000

=2000

=4000

30 -20 10 0 10 20 a0
diff_bpmda¥ium

1000

500

=500

=1000

10
diff_bpmda/um

4000

3000

2000

1000

=1000

=2000

=3000

=
IIIIIIIIII|IIIIIIIIIIIIII|IIII|IIII|IIII|IIII

=4000

=000 -30 ~20 -10 0 10 20 a0

diff_bpmda¥ium
ifL

4000 —

2000

-2000 —

4000 —

~100 _50 0 50 100
diff_bpmdeX/um

1000

00—

-500 —

-1000 ' LT

=100 -50 0 50 100
diff_bpmdaX/um

4000
3000
2000

1000

=1000
= 2000
=3000

~4000

I N N N N N T T N NN TN N N N O N O I |
=300, 55 -850 0 50 100

diff _bpmdeX/um

iff_bpmdeX

1500 |- 1500 =
1000 E— 1000 E—
500 E— B00 E— ]
-5{:03— -500 f—
1000 f— 1000 f—
-15003— -15003— ’
_l | 111 I 1 111 1 11 1 11 | | I | | | | 1 | | | | | | | | I

4000

2000

= 2000

=4000

diff_bom4eY/um

1000

00—

~500 —

=1000 —

diff_bpmday/um

4000

3000

2000

1000

= 1000

= 2000

=3000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=4000

= 5000

I
g —
ra

==

i

—

=

=

—

=

£

S

diff_bpmdaY/um

iff _bpmdeY

1500

1000

500

=500

= 1000

=1500

-20) =10 1]

" maindet“vs diff bpm-scat postpan.pne-

4000 —

2000 —

=2000

=4000 —

1 11 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 111
~150 -100 -50 O 50 100 150
diff_bpm12X/um

1000 —

00—

-500 —

~1000 EEE

ol b by ey by Ly g i
150 100 -50 0 50 100 150
diff_bpm12Xium

4000

3000

2000

1000

=1000

= 2000

=3000

=4000

prlvv e lbvr o berrr brvrn v b o
180 =100 =50 1] 50 100 180
difi_bom12X/um

~5000

1500 —

1000 —

500 —

500 —

=1000 —

=1500 —

o v b b b b B aa Laa g
-180 100 -50 1] 50 100 150
diff_bpm12X/um




